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tothits
C _| Entries 107585
04— Mean 3.682
C Std Dev 1.381
035
03fF
025
02k s
015
0.1
0.05
oF | \
4 =5
tothits
r _| Entries 109632
05 L Mean 3.967
L Std Dev 1.339
0.4
03l
02— E
B 8 b
0.1— s
ol \ l l l
1 3 4 »=5

= 4 mhitsz
0.025 B g g [Enwies 13024
i S S | Mean 4536
L StdDev 2029
0.02
0.015— z . z
L g g =]
i 3
0.01—
g
0005 | | | | | | |
Ans BB LL RR TB TLTR BLIBR LR
& hits2
0.03= S | Entries 8965
L Mean 4.083
- Std Dev  2.262
0.025 —
0.0z 5
0.015—
0.01 e . £ H
- 2 B s =
L g g < @
0.005— 2 g
- g
) S —— | | | | | |
ans BB LL RR 1B TLTR BL|BR LR

& hits3
r P Entries 83313
C Mean 1.185
0.35— StdDev  0.7394
03
0.25F g
02
015 :
0.1
0.05- 5
r g
L l l \ l
TBLR 3 arrays 2 arrays 1 arrays
5 hits3
o s Entries Q0810
04 Mean 1.27
C Std Dev 0.7099
035
0.3 H
C cl
0.25
02
015 -
- s
01
0.05 g
C =
E l l l l
TBLR 3 arrays 2 arrays 1 arrays




Exclusive hits pattern
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Inclusive hits pattern
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Figure of merit

* 6 cuts
 TB selection (TBencut(pre), TBncut, TBdtcut)
* LR selection (LRencut(pre), LRncut, LRdtcut)
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Figure of merit

c 4* 10 * 2" 3 8 * 2 * 39249
= 40301 * 1081 *

e TBnCut * TBenCut * TBdtCut * LRnCut* LRenCut
*  LRdtCut *

—mm

Upward 4 0.374 0.027
dwward 4 10 2 3 8 2 0.381 0.026



